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e um el 36 59 56 115 JNEEAS 270 272 543
b S N 5 13 15 15 30
HUEPHT K 88 155 159 314 ERTHP OGS B2 B2 £
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Be 7T T H 464 496 610/ 1,106 WHE " TH 344 412 446 858
X 8§ T HT 101 106 122 228| 8
Hh L 214 256 264 520 BT | /I =t 2,296] 2,456] 2,658] 5,114
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T B HT 547 644 646| 1,290 £ #H NTH 421 415 404 819
oL —T B 433 432 473 905 £ &% LTH 514 621 580/ 1,201
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NE W T 297 510 556| 1,066
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9
iy
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ol R mr| 1,723| 2,408| 2,556 4,964
oo e HT 225 270 251 521
R & —TH 0 0 0 0
B E ZTH 412 663 652| 1,315
(8% B =TH 271 452 446 898
A MTH 91 142 147 289
X B & HTH 0 0 0 0
A STH 99 148 148 296
10
T
N 3,882 5,412 5,643] 11,055
[+ &= # mp] 1,062 1,657 1,694] 3,351
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X
4
LI I N 3,541| 5,543 5,702| 11,245
(g [ BT[] 1,942 2,687 2,714 5,401
K|l 4 4 mr| 1,088 1,533 1,580 3,113
B | mT 358 546 563 1,100[
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